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INTERMEDIATE EXAMINATION

June 2015 P-5(FAC)
Syllabus 2012
Financial Accounting
Time Allowed: 3 Hours Full Marks: 100

The figures in the margin on the right side indicate full marks.

This paper contains seven questions. All questions are compulsory,
subject to instruction provided against each question.

All workings must form a part of your answer.
Assumptions, if any, should be clearly stated.

Please (1) Answer all bits of a question at one place,
(2) Open a new page for answer to a new question.

Answer all the questions: 2x10=20

(a) MENZ LTD. purchased goods at the cost of ¥ 20 Lakh in Oct 2014. Till March 31,2015, 75% of the

Lakh and a Commission at10% on sale is payable to the agent.
What is the correct Closing Stock to be disclosed as at 31.03.2015 as per AS-2?

(b) PARASH LTD. purchased a machine costing ¥ 72 Lakh on 01.04.2014 and the same was fully financed
by foreign currency loan (US Dollers) payable in two annual equal instalments. Exchange rates were
1 US Dollar = ¥ 57.60 and ¥ 60.00 as on 01.04.2014 and 31.03.2015 respectivley. First instalment was

~ paid on 31.03.2015. What is the amount of difference to be charged to Profit and Loss Accounts forthe

year 2014-15 as per AS 11.

(c) GOPI purchased a plant on hire purchase system from GOPAL on 01.04.2015.The hire purchase rate
was settled at ¥ 72,000, payable at T 22,000 on 01.04.2015 and X 25,000 at the end of two successive
years. Interest was charged @ 5% P.A. [Given PVI FA (at 5%, 2 years) = 1.8594]

Ascertain the cash price of the plant.

(d) Compute the income from subscn'ptibn for the year 2014 from the following particulars relating to
TARUN CLUB:

01.01.2014 31.12.2014

4 4
Outstanding subscription 9,500 7,000
Advanced subscription 2,800 5,200
Subscription recieved during the year 2014 L ¥ 1,45,000

(¢) X,Y and Z are partners in the ratio of 3:2:1. W is admitted with 1/6th share in future profits. Z would
retains his original shares. Find out the new profit sharing ratios of the partners. o
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